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INSTRUCTIONS

1. Please correctly fill your Roli Humber in O.M.R.
Sheet. Candidate will themself be responsible
for filling wrong Roll No.

At the start of the examination before attemnpting

the question paper kindly check your test bookiet

and OMR Answer Sheet and ensure that :

*  The serial numbers of test bookiet and OMR
answer sheet are same.

*  All pages of test booklet and OMR answer shaet
are properly printed. All questions from S.No. 1
to last 8.No. 189 are printed and pages from
S.No. 1 to last 8. No. 24 are there in the
question bookiet.

in case of any discrepancy / defect the candidate
should immediately report the matter to the
invigilator for replacement of test booklet and OMR
answer sheef. No claim / objection in this regard
will be entertained after five minutes of start of
examination. Candidate will be liable for it.

Answer all questions.

All guestions carry equal marks.

Only one answer is to be given for each

question.

If more than one answers are marked, it would

be treated as wrong answer.

Each guestion has four aiternative responses

marked seriaily as {A}, (B}, {C}, {D). You have

to darken only one circle or bubble indicating
the correct answer on the Answer Sheet using

BLUE BALL POINT PEM.

8. Use of Mobile Phone/Biuetosth Devices or any
other electronic gadgst in the examination hall
is strictly prohibited. If any such prohibited
material found with any candidate, sfrict action
will be taken against him/her as per rule.

8. If there is any sort of ambiguity/mistake either
of printing or factual nature in Hindi and English
Version of the question, the English Version will
be treated as standard.

Varning : If a candidate is found copying or if any

unauthorized material is found in his/her

possession, F.LR. would be lodged against him/her
in the Police Station and he/she would liable o be
prosecuted under Section 3 of the State Prevention
of Unfair means Act, 1992 and Board Regulations.

Board may also debar him/her permanently from

all future examination of the Board.
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Which one of the following is not a part of folk paintings 7
(A) Pathwari (B} Phad

(C) Bani Thani (D) Sanjhi
Frafariea & ¥ HFE 0 W@ e o o e ¥ 7

(A) vl B) ws

(C) woli—oolr (D) =ish

Who was the founder of Nimbarkacharya Peeth at Salemabad ?
(A) Harivyas Dev (B) Parshuram Dev
(C) Narayana Dev (D) Harivansh Dev
wemTE ¥ Pramie O @) e B @ 7

(A) shemm 39 (B) 9™ <«

(C) =aw 39 (D) wheEy &=

From which of the following site has the ‘Jakhbaba’ Image been found ?

(A) Abhaneri (B} Kiradu
(C) Noh (D) Bairath
freiiea ¥ © few W@ § SeEer wRker WK g € 7
(A) el (B) fevg
(C) & (D) ¥

Akbar appointed Mansingh as Subedar (Governor) of which following Mughal
Provinces 7

(1) Kabul (2) Bihar (3) Bengal (4) Gujarat
SHST T AR @ FrefaRad o dey T T 6 gaar (o) Frge e e ar ?
(1) wgw (2) faEr (3) ¥ (4) g

@ 1,0 ®
) CRE)

A (1, 2, 3
© @, 3

Which was the Capital of Paramara dynasty of Vagad ?

(A) Chandrawati (B) Arthuna
(C) Malwa (D) Jalore
T H TCAT TEEN & THYFT Hel & 7

(A) =R (B) erom
(C) = (D) "R

70 (2203) ] + 2 [ PT.O.

&  Ghosundi inscription was written in language.
{A) Rajasthani (B) Sanskrit
{(C) Pali (D) Prakrit
rged e e ¥ R W A
(A) TERUT (B) wwpa
(C) e (D) wEa
7  Kalibai was associated with the -
{(A) Banswara State (B) Dungarpur State
(C) Udaipur State (D) Pratapgarh State
FAEE T 8 -
(A) et T @ (B) gyt T ¥
(C) TEgR T § (D) wawTE 9 9
8  Who was appointed as the Prime Minister of Matsya Sangh in 1948 7
(A) Manikyalal Verma (B) Shobharam Kumawat
(C) Gokullal Asawa (D) Herralal Shastri
1948 % weer &9 & WU w9 TRy swR w7
(A) il o (B) s paEd
(C) TpawT ST (D) Sroem g
9  Who was the ruler of Alwar at the time of Neemuchana Kand (Scandal) ?
{A) Maharaja Bannesingh (B) Maharaja Tejsingh
(C) Maharaja Vinaysingh (D) Maharaja Jaisingh
O BT F I HEIL BN JEH B A 7
(A) wErTeT SERE (B) #ETUST ASTRE
(C)y =erten faaiis (D) wEreT SuRiE
10 Which Princely State of Rajasthan was the last to sign the extradition treaty with the
British government 7
{A) Sirchi (B) Kota
(C) Jaisalmer (D) Bharatpur
o @ s ol T F fafey wen & s osd o ¥ wedor why @y 7
(A) TR (B) @
(C) REmY (D) =gl
76 (2203) | 3 [ PT.O.




11 Bhawani Sahaya Sharma the freedom fighter of Rajasthan belonged to :
(A) Alwar (B) Jaipur
(C) Bharatpur (L) Dausa
T TR Irl, TSRO % WO 9um gk 8 -
(A) w@ET ¥ (B) sy ¥
©) s@R ¥ ®O) T
12 The Tourist place Achalgarh is situated at -
(A) Udaipur (B) Sirohi
(C) Rajsamand (D) Chittorgarh
U I STEETE RUa §
(A) sEagX ¥ B) oS A
(C) Tsgw= o (D) e d
13 Choose the group which contains the names of all the cities that have an observatory
constructed by Sawai Jaisingh II -
(A) Jaipur, Delhi, Ujjain, Allahabad and Mathura
(B) Jaipur, Agra, Delhi, Mathura and Ujjain
(C) IJaipur, Banaras, Ujjain, Mathura, Delhi
(D) Jaipur, Delhi, Ajmer, Banaras, Mathura
39 g9 & ghe fes o sl A waR waitE 1wy R Jgenend ¥ -
(A) wER, feeel, IO, soEEE offT "y
(B) Wy, o, el 3gu ok S
(C) “oqR, TRE, Svor, AYT, &
(D) wEgR, R, oY, §9RE, Ay
14  Which one of the following festivals doesn't fall in the month of Shravan (Savan) in
Rajasthan ?
(A) Ub Chbhat (B) Badi Teej / Kajali Teej
(C) Raksha Bandhan (D) Nag Panchami
o™ ¥ Prafafag ¥ ¥ S e sww (@) 9§ w98 e 7
(A) B9 Bs (B) = O / S A
(C) <em s (D) = o
15 Who is the author of ‘Vansh Bhaskar’ ?
(A) Shyamal Das (B) Suryamala Misrana
() Jayanak (D) Munsi Devi Prasad
Ty WRET & T B § 7
(A) TEE T (B) wdwew Prgror
(C) wuFes (D) s <= yErE
78 (2203) | %ﬂ 4 { PT.O.

i6

17

i8

i9

20

21

Which of the following tree is used to make ‘beedi’ 7
(&) Tendu {B) Bamboo

(C) Khas (D) Neem
Frafalfen ¥ ¥ wer gu 9 T ¥ @ o § 7
4) ¥ ®) s
(C) @™ @) A=

Reh, Kallar and Usher are another names of which soil 7
(A) Saline soil (B} Black soil
{(C) Red soil (D) Alluvial soil
16, BEOT U4 HEY 59 g9 B g W § 7

(A) wEog g9 (B) @i 9ar
(C) v g (D) wE® 7

In Rajasthan ‘Mavath’ is 2 local name of -
(A) Hilly Vegetation (B) Desertic Soil

(C) Winter Rainfall (D) Shifting Agriculture
o™ ¥ Es’ hee R Mg ?

(A) vEdE g=ela (B) wowR™ T

(C) = ot (D) wFwRE BN

In which year ‘Mukhyamantri Sadak Yojana’ was launched in Rajasthan 7
T § g wew dorr R ey o @ oy s 7

(A) 2002 (B) 2005

(C)y 206067 (D) 2010

Jamwa Ramgarh Sanctuary is situated in which district of Rajasthan ?
(A) Udaipur (B) lJaipur
(C} Jhalawar (D) Hanumangarh

AT TG ST (e % e B Y R d 7
(A) =YX (B) =gy
(C) wwers (D) s

First Biological Park of Rajasthan is -
{A) Nahargarh (B) Shergarh

{Cy Akal (D) Van Vihar
TS B WUT NS YEM @ AW a9Ey —

(A) TR (B) W

(C) o (D) =7 feEr

70 (2203 ] % 5 [ BET.O.




22 Which one of the following pairs is not a correct match 7

Mineral Mining Area

(A) Copper - Khetari

(B) Tron Ore - Morija-Banol

(C) Tungsten —~  Palana

(D) Lead and Zinc - Zawar

freafefoe o @ @wer te g gk T8 7
CiE T i i

(&) ot -

(B) 5 sUw ~  AeT-FEE

(C) <" ~ Wl

(D) dmr &R ST - SR

23 According to 20% census of animals (2017) in Rajasthan, which of the following is

maximum in numbers ?

(A) Camels (B) Sheeps

(C) Cows (D) Goats

o™ ¥ 20 qgrmn (2017) % orE fre ¥ € www den § wais § 7
(&) &= (B) #3

(C) = (D) i

24 Rajendrasingh is founder of which of the following organisation ?

(A) Jal Bhagirath
(C) Arghyam

(B) Tarun Bharat Sangh
O LLHMERKR

etk Frefaien # | 6w dwE & dewe © 7

(A) v sl
(C) sroom

(B) WO 4@ €9
(D) 0. 9%, W, TH. 9.

25 The latitudinal extent of Rajasthan State is -

(A) 23°3' South to 30°12' South
(C) 23°3' North to 30°12' North
TeTEE oY @ el R ® -
(A) 23°3 sfqw § 30°12' gfgmr
(C) 23°3 wax § 30°12' 39X

T8¢ (2203) ] +

(B) 23°3' North to 30°12' South
(D) 23°3' North to 30°21' North

(B) 23°3 s=¢ ¥ 30°12' gigey
(D) 23°3' s@Y & 30°21" Iw¢

26

27

28

29

3G
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Which of the following crop is not suitable for the humid southern plains Agro
Climatic Zone of Rajasthan 7

{A) Wheat {(B) Pulses

(C) Rice (0 Jeera

Frefefen @ 3 g wow TORE @ ok sl Yl iy sy T ¥ MY 99

T 7

& !
(A) (B)
(C) =mEw (D) s

Which of the following is not the reason of desertification 7
{(A) Overgrazing {(B) Deforestation
(C) Urbanisation (D) Excess Rainfall
FrgfaRea & @ BEE TEUaET B R T8 T 7

(A) e B) FERwHE

Which of the following lift canal was first lift canal on Indira Gandhi Canal ?
(A) Pckran (B) Falaudi

(C) Kanwarsen (D) Gajner

Frfafae & @ o fowe et dirn ol 57 W T8 T vedr fawe weT 4t 7
(A) qETT (B) wwwar

(C) Ha@™ (D) TR

Which of the following districts pair has no river flow ?
(A) Bikaner - Chury
(C) Churu - Nagore (D) Jaisalmer - Barmer
Frefaied & ¥ By g e ¥ ¥ 0@ W T e T8l s|y
(A) SFT - g%
(€) g& - 7

(B) Bikaner - Hanumangarh

(B) AL - TEET

(D) SEEEY - ¥EAET

What is the percentage of the area of India covered by Rajasthan 7

IRA & G0 SAGd B oY g STreenad Ahied § -
(A) 9.45% (B) 10.41%
(C) 11.54% (D) 10.55%

7 [ PTO.
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In human brain, the majority production of Cerebro Spinal Fluid (C8F) is from -
(A) Pons (B) Thalamus

(C) Choroid plexuses (D) Pyramids of medulla

e wiass ¥ QNS WETE ot B T e Swey gar ¥ 7

(A) urg (B) I5==
(C) wTs e (D) Fem & Rrofe

Type of cells found in organs have been paired. Which among the following is/are
wrong pairs -

(1) Ependymal cells —  Brain

(2) Parietal cells —~  Stomach

(3) Parafoilicular cells Testis

(4) Thyrotrophs —  Thyroid

(A) (1) and (3) (B) (2) and (3)

(€ (3)and (%) (D) (1) and (4)

fafer of o o wofw Rty ve & wiRwet % e gl @l T S -

I

(1) oi=Ew sme —~ Ak
(2) TEew W@ ~ Y
(3) YwieErR B - gEw

4) uEE® - UEiYs

(B) (2) T (3)
©) (1) @)

(A) (1) T (3)
(©) (3) 8T (4)

Which of the following structure is NOT found in inner Ear 7

(A) Cochlea (B) Semicircular canals
(C) Concha (D) Organ of Corti
arafie el BE-9 9 TR s § 7

(A) wimhvar (B) erefieia wfernd
(C) =far (D) Hed & o

In Eye, where rods and cones are absent and no image detection takes place ?
(A) Retina (B) Yellow spot

(C) Blind spot (D) Fovea centralis

W ¥, ot oF o @El ouRud B ¥ qu Reeh efy @ weuw Wl eR ¥ 7

(A) e (B) a3
(C) &y g (D) =i Sl
76 (2203 | wifm 8 [ PT.O.

36

37

38
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In human, fertilization occurs in which part of an oviduct 7

(A) Fimbriae (B) Isthmus

(C) Ampulla (D) Infundibulum
Ay H, gl ¥ g oy A Peew w7

(A) T (B} =@

(©) ghemr (D) s

Syphilis a sexually transmitted disease is caused by -
(A) Treponema pallidum (B) Francisella tularensis
(C) JYersinia pestis (D) Borrelia burgdorferi
(A Zuiar Gefiss (B) widder agemitaw

(C) zvdifrar few (D) Fifrar sl

Distance between two adjacent Z lines in a muscle fibre is known as -

(A) H zone (B) Sarcomere

(C) Myofibril (D) M Zone

7% U ag F @ Freveadt o Ywmel ¥ 9w o gl @ wer o ¥ -
(A) H a (B) weMER

(C) wrERelEa (D) M &5

Protozoan which help in digestion of cellulose in certain insects is -
(A) Monocystis (B) Giardia
(C) Trichonympha (D) Opalina
TEISe 1 $8 ®ie ¥ JWAe $ qET § TeMe B § -
(A) wFIRfew (B) fFrenfSar

(C) zmH (D) arvaET

2y
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Which one of the following DNA Molecules has left handed helix ?
1 9 & oF-¥ Sl o F awgd R ¥ peekie Yew o SR v 7
(A) B-DNA (B) Z-DNA

(C) A-DNA (D) C-DNA

In Snapdragon the ratic of flowered plants red (RR), pink (Rr) and white (rr) in F,
generation is 1 :2: 1. This shows -

(A) Law of Segregation (B) Law of Dominance

(C) Incomplete Dominance (D) Law of Independent Assortment
g | F, 4l @@ (RR), W(&r}ﬁwwm)wwﬁa‘f@@ﬁw} 2:1
T SR L 9E avle ¥ -

(A) gu=sTe &= O (B) Wm%m

(C) orgel gwan (D) =T og=gEd & e
What are one ringed structures called and their examples are ?
(A) Purines —  Adenine and Guanine

(B) Purines —  Adenine and Uracil

(C) Pyrimidines —  Adenine and Cytosine

(D) Pyrimidines Thymine and Cytosine
TH IEE & A w4l E&%Eﬂé' € ol % TEWIT § !

A = - R T ©EH
(B) i ~ TR T g
(€©) ™OFER ~- W T ggetan
(D) R - UEEM T SRR

tRNA recognize amino acyl tRINA synthetase enzyme by -

(A) Anticodon (B) DHU loop

(C) TwC loop (D) Amino-acid attachment site (A-A site)
tRNA frgs &rq oF TUEe tRNA Rues ToEy &) vsa™ & & 7

(A) TEmEH (B) DHU loop
(C©) TwC loop (D) o€FT ov EE T W (A-A site)

What is the number of chromosomes in a human affected with Turner syndrome ?
ot R & T s & R R R E 7
(A) 44 (B) 45
(C) 46 (D) 47

10 [ PTO.

44

45

46

47

48

A genetic codon always codes for a specific amino acid. This characteristic feature
of genetic codon is called as -

{A) Degeneracy (B) Non-redundancy

{(C) Won-overlapping () Non-ambiguous

Ta TEINE g ST U e SF] o @ RIS [6U1 9N ¥, arEhie g % gw e
TH B H TR E -

(A) SragTRTET (B) efaiEam

(C) erfqentyar (D) =

What is used for making ¢cDNA library 7

cDNA §9% & Frafer % w7 ygea e § 7

(A) tRNA (B) mRNA
(C) tRNA (D) DNA

Polytene or salivary gland chromosomes are found in salivary glands of insects belongs
to order -

{A) Orthoptera (B) Coleoptera

(C) Hymenoptera (D) Diptera

UM 1 @R 9 Yo B T % e @ e vhee ¥ ug e 7

(&) smareq (B) wifwer=xy

(C) TEEART D) =

To find out genotype of an organism expressing dominant phenotype, it is crossed
with homozygous recessive. The cross is known as -

(A) Test cross (B) Back cross
(C) Reciprocal cross () Dihybrid cross
GUTE] MHUEEY Yhe WYY O S %I W 16T YAl @ % TWT IEET Wl augrEe)
YWY GG B WY BT WET BERET § -

(A) ThFT €H (B) doxgEe d@

(C) =gmd WHm (D) fedes ot

in which superorder living flightless birds are placed ?
(A) Ratitae (B) Carinatae
{(C) Impennae (D} Neognathae
fre el ¥ Sifvw T 9e9 O vl whefee fed o ¥ 7
(A) T (B) e

©) (D) ety

70 (203 ] 11 [ PT.O.



49  Elephantiasis is caused by -

50

51

70 (2203) ] + 12

(A) Hookworm - Ancylostoma duodenale
(B) Nematode - Wuchereria bancrofti
(C) Nematode - Enterobius vermicularis
(D) Roundworm - Ascaris Lumbricoides
grdriE &1 B ¥ -

(A) & o — graae sEaw

@) frde - gHAer dwimer

(C) Fgw - =R affegaia

(D) W B - d@RY Prmissd

Characteristic features of Archaeopteryx have been stated below. How many statements
are correct 7

(1) It is a connecting link between class Reptilia and Aves
{2) Forelimbs completely modified into wings
(3) Tail with free caudal vertebrae and pygostyle

(A) Only (1) (B) (1) and (2)
(C) (1) and (3) ®) (1), (2) and (3)
anfEaeiE & i war feffea 8 1SS s ¥ 2
(1) = & g 9al o B 9ee B9 ¥

(2) wO% nE TU a¥E ¥ del ¥ fudkw ¥

(3) = oS ¥ g I GU0% 9 TRIRET § 1

®) (1) s @)
@) (1), (2) ¥ 3)

(A) = (1)
(©) (1) (3)

Poultry refers to rearing of which of the following birds 7
(1) turkey (2) geese (3) duck

(A) (1) and (4) (B) (1), (2) and (4)
©) @) and (4 O (1), 2), (3) and (D
T o ¥ e F ¥ - Il @ aee R S 7
() ==& (2) = (3) =@

(A) (D) & 4) B) (1), (2) &t (4)
©) (@) & @) D) (1), (2), 3) ST (4)

(4) hen

(4) TH

[ PT.O.
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53

54

55
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Larva that does not belongs to phylum Echinodermata -
(A} Brachiolaria (B) Tornaria
(C) Ophiopluteus (D) Bipinnaria

wral & E geEAaety ¥ gdfm wl ¥ -

(A) s (B) @R
(C) afrarad (D) =i

The animals of which group are Homeothermic 7

(A) Crocodile, Gavialis, Bat (By Whale, Pigeon, Bat

(C) Seshorse, Dogfish, Catfish (D) Salamander, Whale, Bat
P & 4 BN T At ¥ o T ¥ 7
(A) wrees, faifve, TaEe

(C) @y e, Sitsy, efpar

(B) =W, BYEY, TUIES
(D) owdey, o9, TS

Animals which are exclusively marine have water vascular system and possess radial
symmetry have been placed in phylum.

(A) Echinodermata (B) Porifera

(C) Coclenterata (D) Ctenophora

F Sl o (At B @ R O ¥ O & © aU 99N oW e o § o gEid s
o mEm A W@ ¥ 7
(A) zoEEd

(C) faemea

(B) uriddsy
(D) A

Cut of the following choose the correct choice with respect to presence of constituents
of saliva -

(1) Lysozymes  (2) IgA (3) Lactoferrin (4) Pylin

(A) (1) and (2) (B) (1) and (4)

© 1, 3 & (D) (1), (@), 3), &)
ol ol o € -9 W o9ug & w9 ¥ gl e B 7
(1) e (2) IgaA (3) TR “4) wmke
Ay (Hdr @) (B) (1) ¢t @)

© 1), 3).® D) 1), @, 3),*

13 [ PT.O.




56 Volume of air inspired or expired during normal respiration is expressed as -
(A) Vital capacity (B) Total lung capacity
(C) Residual volume (D) Tidal volume
TH WA $EE haT % R (RIET ¥ Owead % EY 91 % R & Reed gl

i
(A) S = (B) oW wpy @@
(C) ool euE (D) =™ awEd

57 Which set of vitamins is not water soluble ?
(A) Riboflavin, Pantothenic acid {B) Niacin, Cyanocobalamin
(C) Nicotinic acid, Ascorbic acid (D) Tocopherdl, Retinol
e o ¥ BF—ar v won el efm s @ 8 7
(A) e, Y28 emw (B) frafiyw, aRTeEmEE
(C) Fefhe o, toivs o (D) T@rey, EH

58 Chief cells and parietal cells of stomach secrete respectively -
(A) Mucus and HCI (B) HCI and proenzymes
(C) Proenzymes and HCI (D) Intrinsic factor and HCl
I W g B T IEew SR HAE 9Eer sl 8 -
(A) s wd HCI (B) HCI w& wro=mgd
(C) vigsmgw wd HCI (D) $iiyew wre gd HCL

59 The starting substances in the synthesis of haem part of Haemoglobin are -
(A) Succinyl CoA and Glycine (B) ¢ -Ketoglutarate and glycine
(C) Succinyl CoA and Lysine (D) o -Ketoglutarate and Lysine
e ¥ o 9w T oW ¥ Fein @ erey v & foe e garl Y enevaear B
g7
(A) wedrmEE CoA ok wEdM (B) o -BRMEEE AT WEEE
(C) wedmEe CoA X wgdm (D) o - ok wEdH

60  What are Normoblasts 7
{A) Immature Red Blood corpuscles (B) Early Embryonic cells
(C) Immature bone celis (D) Cells of limb bud

e o By ¥ 7
(A) oriuss Wia BRI Sy (B) urfys yoim SN
(C) emitums iy BT (D) UE B! Bl BINBT
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61

62

63

64

65

In human heart, an oval depression called fossa ovalis is present between septum of -
(A) Right and Left atrium {(B) Right atrium and Right veniricle

{C) Right and Left ventricles (D) Left atrium and Left ventricle

Y BET ¥ U SNSHR T fWEw! BET SR wed ¢, fhee w Remwa ¥ 7

(A) =l wd ¥l als (B) =l wfvs wd ol Prew

(C) cmf wa sl e (D) s olvre wd s R

In blood plasma, {3 -globulins, transferrin and erythropoietin are examples of -
(A) Mucoproteins (B) Phosphoproteins

(C) Glycoproteins (D) Lipoproteins

SRR e & B -wighee, i e o e A fewe seem ¥ 7

(A) =i (B) wrEnsErg
(C) EBHER (D) TR

In blood clotting Antithrombin I and protein C have similar role as -

{A) Plasmin (B) Heparin

(C) Vitamin K (B) Calcium

Tt 1 &R 9w C & &, SR yger s & wiser o fad Al § 7
(A) wEs (B) RurE

(C) f=ftm K (D) Hivwow

o and Bcells of Islets of Langerhans secrete hormone respectively -

(A) Epinephrine and Glucagon (B) Insulin and Glucagon
(C) Glucagon and Insulin (D) Insulin and Epinephrine

W F AT TR B o T B R e B S e e & 7

(A) TRFE®HE TE TEEHEE (B) zgiw o @
(C) wor= wd sglem 3

(D) sgf= g olrm

Find the incorrect match with respect to hormone and its production site -

(A) Somatostatin - § cells of panereatic islets

(B) Somatotropin ~  neurohypophysis

(C) Catecholamines ~  adrenal medulla

(D) Calcitonin —  Parafollicular cells of thyroid

TN T oEe oW ©W @ g % w9 ¥ frer e ¥, B ¥ @ new g gh -
(A) gFRREN - IrOeE W § e

(B) wEEafE ~ AT
(C) HEBEET ~  ofygwew fgge
(D) HwRetE -~ uEdas ® i geEn s

76 (2203 | + 15 [ BT.O.




66

&7

68

69

70

“Pampas” grasslands are found in -

(A) Asis {(B) Australia

(C) South America (D) North America

(A) hrr (B) iR

(C) =frer e (D) =l emfte

Which of the following is known as ‘Energy plant’ that is used for Ethanol production ?
{A) Sugarcane (B} Onion

(C) Quinine (D) Zizyphus -+
Frefofen & @ 5w SO TR & AW & IOET | Uged U SRT § 7
(A) 7= (B) =

© F D)

World Environmental Day is celebrated on -

(A) 6th July B) 10t August

(C) 2nd October (D) 5% June

v wafe fag = 9. § -

(A) 6 Sme (B)Y 10 s/

(C) 2 oSy D) 55

Mycorrhizal associations are an example of -

(A) Protocooperation (B) Mutualism
(C) Commensalism (D) Amensalism
FIHIE WETY BRI § -

(A) wrmeEERE (B) wwmEr

(C) wewiformr (D) vl

The vector obtained from Agrobacterium is :

(A) T; Cosmid (B) T, Hybrid
(C) T, Phagemid (D) T, Plasmid
TRFET & U 9% §

(A) T, HAE B) T, RIHES)
© T, ¥t D) T, =i

70 (2203 | == 16 [ PT.O.

71 A totipotent cell is —

CRES
N’ \Eﬁ

o
@)

@)

Capable to develop whole organism.

- Capable to develop tissues.

Capable to differentiate organs.

Capable to develop seeds.

e ol v i B ¥ -

A)
B)
©)

ot e w R wE W ae]
Tas e ¥ el
afr fy¥es o gaH!

(D) o= Fmie & wEH|

73  Cosmids are plasmid vector that contain cos sife from !

(Ay E.coli B T™MV

(C) 2 bacteriophage (D) Yest plasmid
FHTs & woihE 9 & el cos UEE BN S ¢

(A) 5 @E (B) TMV

(©) A FERESw (D) e W

73  What is Rosie 7

{A) Transgenic pig B)
(C) Hybrid rose (D)
T RME D

(A) zhaste gor (B)
(C) ot o )

74 Saffron is obtained from —

{A) Anthes B)

(C) Petal )

HTT I BN B -

(A) BT ¥ (B)

(C) w ¥ D)
70 (2203 | ﬂ%ﬂ 17

Transgenic insect

Transgenic cow

AT in Gk T
FALEIRCIRliv

Root
Stigma

-

ElEaiked
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75 Pollenkitt is an oily layer found on the mature pollengrains of -
(A) Wind pollinated species
(B) Insect pollinated species
(C) Birds pollinated species
(D) Animal pollinated species

TATiee U aoig @Y & 9 5T ver & afvew auveet ¥ ww W ¥ 7

(A) =g W@ sl &
(B) e v sl ®
(C) udfy wymia il o
(D) wvg wrTa skt |

76 Indicator of air pollution is —

(A) Moss (B) Mushroom
(C) Fungi (D) Lichen
Y T LI -

(A) wTw (B) wareH

©) = D) e

77 Which of the following is the vector of NIPAH virus ?
(A) Fruit fly (B) Fruit bat
(C) Fruit worm (D) Fruit mice
Prerffed & @ 2 Froe R @ s § 7
(&) BT @ (B) %=
©) w2 (D) %z T

78 Which of the following is a heterosporous pteridophyte 7
(&) Lycopodium (B) Selaginella
(C) Psilotum (D) Equisetum
Frefofee o € o @ R e ¥ 7
(A) @zwrEaT (B) Reifomar
(C) @l (D) s

70 (2203) ] *iﬂ 13
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79 Plasmids are present in :

(A) Lichens {B) Bacteriophage
{C) Bacteria (D) Virus
Wg Y SaieE w1

(A) wEsT ® (B) st o
C) &t o (D) oW

80  When plants are eaten by animals, how much energy is fixed in animal flesh ?
WY Sg wad @ e ¥, feeh ol uy wiw F Ruv S
(A) 10% By 20%
(C) 30% D) 50%

81 The algae Chara is commonly known as :
(A) Liver wort (B) Stone wort

(C) Bladder wort (D) Creeping wort
BT S H AR N

(&) foo = (B) ®Wm &

(C) =isy &2 D) wdit g

82 The male gametes in Bryophyta are -

(A) Non - flagellate (B) Bi-flagellate
(C) Multiflagellate (D) Quadriflagellate
EGES 7 T S 6l ¢

(A) srmaniyey (B) Tawmmiey

(C) wgemanfyed (D) ageantad

83 Endosperm in Gymnosperm is —
(A) Haploid (B) Dipleid
(C) Triploid (D) Polyploid
e & gomiy g & —

(4) s ®) fegp
(€) B D) wEhw

70 @203 | 19 [ PT.O.



84 A bacterial cell divides in every minute and takes one hour to fill the cup. How much
time it will take to fill the half cup 7
(A} 60 minutes (B) 29 minutes

(C) 59 minutes (D) 30 minutes

TE ar] B vde e fwive ol ¥ o ue e W F U9 R W ¥ oy

Tl WX ¥ Raer 9y w7

(A) 60 fme By 29 fe

(©) 59 firme D) 30 fre

83 The period during which a virus builds up an infective concentration within their
vectors is known as —

(A) Latent period (B) Incubation

{C) Lysis (D) Lysogenic
arafty fred oy awe  gwEl wrerr Rl s ®, wea ¥ -
(A) e oty (B) @y ol
(C) wrafe (wem) (D) wiESiFE

86 (Ganga water does not get spoil due to the presence of —

(A) Antibiotics (B) Interferon

{C) Phages (D) Minerals
TS GUF T6| S § wiieh SURYT B § -

(A) wEeafew (B) gretwmuA
(C) Forw (Wsh) (D) wem

87 Which of the following plants’ seeds are used as Jeweller's weight 7
(A) Lens esculentum (B) Cicer ariefinum
(C) Glycine max (D) Abrus precatorius
e o ¥ forw uew & 99 SRl 30 e ¥ e e S E 7
(&) 7 gga=T (B) wEeT Qi

(C) i dog (D) wevw REERag

70 @203 | s 20 [ PTO.

88  Histogen theory was proposed by -

89

90

91

(A) Nageli (B} Haberlandi
(C) Schmidt (D) Hanstein
reem fem Rar y -

(A) T (B) ¥uwed
(C) Bme (D) Todm

Which of the following bear moniliform roots ?
(A Momordica
(C) Dahlia (D) Asparagus
et el ¥ ¥ @9 w R 5w uno wxa €2

(A) wrrifsa (B) a@vegw
(C) ssforar (D) g

(B) Curcuma

Ginger is a underground stem, is a -

(A) Rhizome (B) Bulb
(C) Comm (D) Runner
H T I @, wa -

(A) v (B) %=
(©) = D)

What is the example of nodulose root which suddenly swollen near apex -
(A) Sweet potato

(B) Curcuma (Turmeric)

(C) Dahlia

(D) Memordica (Bitter gourd)

Fhus @ W B e W W Tes gw ol §, seeer & o

(A) voEe

(B) o sy

(C) sshwn

(D) e

] )
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92

93

94

95

78 (2203) ] + 22 [ BT.O.

Seed habit originated in -
(A) Algae (B) Fungi
(C) Pteridophytes (D) Bryophytes

ST H1 SET T § -
(A) Saw
(€) MEwme (D) SRR

(B) =9=

Water conducting elements consists of only tracheids in -
(A) Bryophytes (B) Monocots
(C) Gymnosperms (D) Angiosperms
S deey Ty R daw e o Saiew B ¥ -

(A) SR B) b & =

(C) emgadE (D) ergaEen

What is the technical term for bark ?
(A) Rhytidome (B) Phelliogen
(C) Periderm (D) Osmophor
ue (Bark) &7 deAe IS a9 ¢ 0

(A) Tl
(C) dhi®

(B) wrweM
(D) ST

When we peel the skin of a potato tuber, we remove :
(A) Periderm (B) Epidermis
(C) Cuticle (D) Sapwood
WS B o 8 @ @l @ B €, 9 W T T

(A) e

(C) wgRew

(B) s
(D) s

96

87

98

99

TG (2203) | W& 23

The vascular cambium in Angiosperms produces :
(A) Secondary cortex and secondary xylem

B) Sécgﬁdafy cortex and secondary phloem

(C) Only secondary xylem

(D) Secondary xylem and secondary phloem

(A) fedow awge w@ Eew sEee @

B) e wge © EWHue W &

(C) &=w s Sged &0

(D) i wgen T e e @

In succulents stomata remain open -

(A) Morning (B) Noon

(C) Night (D) Always

e qEd ¥ Y g W § -

(A) ST (B) et

(C) T (D) =aem

The value of Respiratory quotient (RQ) in anaerobic respiration is -
(A) Infinity (B) Zero

(C) One (D) Less than one
ST yaEE A 99T YO @ AN Sl § -

(A) o= B) I

€) @ (D) & ¥ HA
Kreb's cycle occurs in :

(A) Nucleus (B) Mitochondria

(C) Cyloplasm (D) Chloroplast

%Y W T T B ¢

(A) Hwa # (B) W< §

(C) =iy o= o (D) shawas o

Which of the following expression represent diffusion pressure deficit 7

e e gmar &t Fetaien ¥ ¥ e et g velia fer s § 2
(A) DPD = OP — TP (B) DPD = OP + TP
(C) DPD = 2(0OP - TP) (D) DPD = 2(OP + TP)

T;
]
o



